Algd S =
stol 24
1. e x 2o Ao9 5. axb=(a+b)? 22 FAT W, 20% (—y) + a2y T
s _F AoA zy o] A4E 5t
© (20 +3)2 = 422 +9
@ 3-2)2=9— 6z — 22
® (4z —y)(4z +y) = 42? — y?
@ (z+1)(z+2)=2%+22+2
® (z+2y)(z —3y) = 2* — 2y — 6y° 6. (z+2y+1)(z—2y+1) S AN ALY
O 2?2 -2y —4y>+1
@ 2?2 —day+1
2. (z+3y)(x—y) E ZA/NSIAH?
® 2?2 —2xy —4y? +1
O 22+ 4oy — 3y @ z? — 4ay + 3y @ 2?42z —4y° +1
® 2 —2zy + 3y @ z? — 4xy — 3y © 2? -2z +4y° +1
® 22 + 22y — 3y?
7. 203 2 AAtsted o 5 7P "eER A0 34
=7
3. _ ]- _ ]' o] o A] o
T=5Y= 73 A o, o2 A (z + y)(z —y) &
ko9 @ (a+b)(a—>b)=a®—0b>
1 1 @ (a+b)? =a?+ 2ab+ v?
@0 @ % ® -2
5 5 ® m(a+b) =ma+mb
Y 3% © 5
@ (ax +b)(cx +d) = acx® + (ad + be)x + bd
® (a+b)(c+d)=ac+bc+ad+bd
4. (z—a)(z—5)=2>-br+15 W, AT a,b o F

ab ] 2 Fotelet,

o= V2"V am o Lo ge 7em
V241 a

@ -2v2 @ 2v2 ® 4v2

® 42 ® —4




HEE ol 2% a o g Foboleh

10.
o g Fafolz

11. 2>+ Az —6=(x—3)(z+B) € W, A+ B 9] 3=

e

12.

1 1 -
a+b=2,a®>+b*=8 ¢ 1, E‘Fg O] & ohH?

® -2 @-1 ®o0 @ 1 ® 2
13 VB-1 VB4l o a?+yioay
St Aby: s S
gre o
13
D —-2v2 @ 2v2 @—gﬁ
@% ® 3v3

(V3 - 2)? - a(3 - 2v3) & A4k AT §257)

(Ax+1)(Bx—B)=622+Cox -2 ¥4 W, A-B+C

14. (@4 y+ D@ +y—3) & BAHNA oy O AFE
x 9 AFE b U, 0+ b ) S T

-1 @0 @1 @ 3 ® 6

=

=

15. (2 — 2+ 3)(3z + y — 4) S AAFAL 0, 2y |
ASE o, AT b2t T o —a+b - [b—2a]
2he Tatoler,

1 1
16 oy L s o o grer
x T

D +6 @ 6 ® 42

@ 442 B 32

17. /8999 x 9001 + 1 =10 x a® & W, ¢ 2] Zr?

@ +10 @ +20 ® +30
@ +40 ® +50
18. oh-& A2 AXSIAI L. 7(841)(82 4 1)(8* +1) — 88




19. 23 + 0 = (z + 2)(2? — 22 + 4) oA O] gre
a5 F-shozt

1
20- 2 gp o9, a2 o) gy
xr

@ 20 @ 18 ® 16 @ 14 ® 12




